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for the questions

1. Explain the basic features of Indian
economy.

Or

Explain the major natural resources of In d;
and mention their importance : a

economic development of India.

2. Explain the main causes of Unemp),
in India. Suggest remedial measureg tyirnent
this problem. L O Solve
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Or
What e the Causes responsible for the rise

3. Examine the trends in the growth of National
Income with reference to  sectoral
contribution in India. 9

Or

Write a note on National Income by industrial
origin over the period of planning.

What is planning? Critically evaluate the '
achievements and failures of Indian

 Five-Year Plans. - 2+7=9
Or
Define globalization. Critically examine the
impact of globalization in India. . 247=9

5. Dlsbuss the growth and performance of
nationalized banks of India. _ Q

Or

Give -a critical appraisal of the working of
Reserve Bank of India in the economic
development of the country.
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2. This paper should be ANSWERED FIRST

and submitted within 1 (one) Hour
of the commencement of the

Examination.

3. While answering the questions of this
booklet, any cutting, erasing, over-
writing or furnishing more than one

' answer is prohibited. Any rough work,
if required, should be done only on
the main Answer Book. Instructions
given in each question should be
followed for answering that question
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( PART : A—OBJECTIVE )
( Marks : 25 )

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 15)

A. Choose the correct answer and put a Tick (v)) mark
against the brackets provided : 1x10=10

1. One of the salient features of Indian economy is
(a) surplus in balance of trade ( )
(b) surplus In union budget ( )

(c) underemployment with rural poverty

()

(d) existence of full employment ( )




( 2 )

According 1O 2011 Census, the S€X ratio in

. India 1s
(a) 927 per 1000 males ()
(b) 933 per 1000 males ()
(c) 940 per 1000 males ()

(d) 944 per 1000 males ( |

3. Poverty line is determined by

(a) per capita calorie intake ( )

(b) income of the family ( )

(c) standard of living ( )

(d) general health of the people ()

- +. What is the base year for National Income at
present?
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( 3 )

5. Which Five-Year Plan had ‘poverty-alleviation’ as
one of its objectives?

(a) 1 Plan ( )

(b) 1II Plan

(c) V Plan ( )

(d) VIII Plan ()

6. The National Income in India is estimated by the

(a) Indian Statistical Institute ( )

(b) Planning Commission ( )

(c) Central Statistical Organization ( )

(d) Ministry of Finance ( )

7. The Planning Commission was set up in India in
the year

(a) 1948 ( )
(b) 1949 [
(c) 19350 ( . J'h

(d) 1952 (505

Ba/Eco-501/98
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8. Now, UTI Bank is known as

(aA) SEBI ()

(b) COTA ()

(c) Axis Bank ()

(d) None of the above ()

9. Inflation in India has

(a) adverse effect on balance of
payment ( )

(b) adverse effect on investment ( )

(c) growing inequalities (. )

(d) All of the above ( )

10. The biggest commercig] bank in India is the

(a) State Bank of India ( &)




(S )

B. Indicate whether the following sStatements are

True (T) or False (F) by putting a Tick (/) mark :
- 1x5=5

1. Sex ratio means number of females per
thousand male population.

(T / F)

2. Open unemployment is also called structural
unemployment.

(T / F)

3  National Income is not a flow but a stock
concept.

(T / F)

\

4. Present-day economy is employment oriented.

(T / F)

5. The present monetary system in India 1s
managed by the RBI.

(T / F)
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6. Liberalization
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( 11 )



(12 )

7. Monetary regulation in India
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